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I AM TOASTING
THE BREAD

My dear! I am toasting the
bread toast for breakfast.
Please have it.

If you toast it like this, it is no
good. You have to toast it
for some more time. That's
enough. Don't over toast it.
See, it is burning.

The pan is very hot.

See how you have burnt it. Is this
the way of toasting the bread?

Ravi! Get another bread.
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I will get it. Please give me
money.

Here it is. You have to get it
soon.

You will not have change for five

rupees in that shop.
Change it in another shop.

Why is this five-rupees note torn
like this? If you hold it, it will
be torn further. This will not
be accepted.

It will be accepted. You go.

Why do you change that five-
rupees note now? 1 have
change. We owe two rupees
to that shop-keeper.

The previous loan was cleared.

Did you borrow again?

I brought vegetables in the morn-
ing.

All right! You clear his account
first. Get bread with the bal-
ance amount.

When will the school be re-
opened? We have to admit

Gita in the school.
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We will admit (her). The school
will be reopend tomorrow only.

I will join the school where the
elder brother is studying.

Don't cry, my dear! Your brother
is in a high school. You join
the elementary school this year.
Later you can go to high school.

Daddy! Here is the bread.
There is some commotion at
that shop.

Why?

There has been a high gale and
rain, you know! Then the
outer roof (pandal) of the
shop fell down.

Daddy! This gun is not work-

ing. You please fire it.

Let me see! Give it me. [ will
fire it. Don't worry. 1 will

give it back to you.

DAY Sr&0b.
D0 DIBEY NV plel AN
o ISy, Sr0ol.
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d. Response drill.

Model (i) Model (i)
Qorbes Do WOPD? (rarav-dr®)  DoBD Do ErO0s? (58)
e Erarow Srond. 36) Sremib.

1. 980 Jo Dogd? (Drf-ex) 1. 7D WG Do F006?

2. 530 Jo BoIrgd? (er8-&cin) (&> THTD)

3. 845 Do WY Dot ?(Be-TWY) 2. YRFO Do Sr00d? ()

4. Q0 FTIHTE Do WDRTE? 3. ) oD Sr&od? (25¢¥)

(2¢9)-8) 4. 278 Jor &OoH? ($05)
e. Tranfsformation drill.

Model (i) Model (i)
& T, 70500, (085) W5 & Few SrG.
WE5H & TEYS SrETD. & St SrE.

1. e 300 £00s. (ASE) 1. & 25§ 887 Hodd.
2. T “@J"&QE D0 00DB. (30) 2. IS & E0o STST L.
3. B Sr& 2rihocicd. (Sasg) 3. &) 5BES BoO.
4. & er8en 800 dDPH? (w85) 4. I8 BE TO)LoBG.

Model (iii)

1. 278 Soyar? 3. @) TTLES Boo.
2. $v0 Sromd. 4. BE Tenda.
EXERCISES
a. Fill up the blanks with the suggested forms of the verbs given in the
parentheses.

1. 6% J3) S8 .......... (se) (past)

2. %0 aopd s ... (o) (present)

3. g T ... (Teny) I8 d.  (conditional)

4. ¢ YRE0 e (8) 0000 =%, (gerund)
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b. Answer the following questions as shown in the model.
Model
& Dey Todbo? (6) 2. WdsEy SrcaddBo? (Ade:)
8> TO0k. 3. & Hobd &rdoto? (T¢)
1. 336 @ sTEE DhdEo? (D) 4. &0 28 $6wodno (H30)

c. Change the following sentences as shown in the model.

Model
WD 5BES G0 H0DB. 2. DY ToNTA) TOR STTD.
e TBES” Do H0DB. 3. @ eHO TEd.

1. & S8 e VLTI ? 4. & 78 o Song?

d. Make sentences with the present negative, future tense, hortative,
past tense and obligatory forms of the following verbs with oo as
subject and the suggested nouns as objects.

Verb Object

S0 QJDEY

S Do

o) 0

SOEON) D

® lafefoNbiiefo

Model

Verb o0y Object  3HER
Present negative &0 Qo50ey sewo B,
Future tense IO WIDEY TQOJ0.
Hortative QJI0 IVEY SRTTO.
Past tense IO NIVEY ST0.
Obligatory QJI0 WIVEY N,
Past neg. 3050 IDHER TOB.
Future neg. QIO NIVER 0.
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VOCABULARY

@/ @& bread PG raise a loan

o) fry (v.t.); toast (v.t.); P loan; debt
burn (v.t.) S clear (a loan) (v.t.)

20§50B0  some more DA join (v.t.)

oo burn (v.t.) WD join (v.i.)

Som¢éd burn (v.i.) rome0  high school

S0 frying pan QOF00¢0  elementary school

& bring Qe

o a2 masculine inferior ad- O storm; rain with gales
dress marker. 2060 pandal

DY money in the form of Eren collapse; fall down
coins; change (n) fwj’g gun

S50 change (v.t.) IOV blast (v.i.)

Sexs note (n) -e9% a feminine inferior ad-

3% be torn dress marker.

ooV change (v.i.) %D(QDQ blast (v.t.)

780 owe (Vi) —032 a feminine inferior ad-

o8 loan: debt dress marker

SD be cleared (as a loan)

GRAMMAR NOTES

35.1. In this lesson some intransitive verbs and their transitive counter-

parts are introduced.

S kalu 'burn; fry' ey kalcu 'make something to get burnt/fried/toasted'

Intransitive verbs are those which do not take direct object (20.2.3).

B seododb.  breddu kalutunnadi. '"The bread is getting toasted.'
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The verb may be inherently inrtansitive (&* po'go'; T ra'come'; S0 kalu 'get
burnt'; 238000 jarugu 'move aside' etc.) or inherently transitive (£ tinu 'eat';
&0 tagu'drink' etc.) There are derived transitives also. They are derived
from a intransitive verb by adding a (ERSHENISIESERR. <o) ka/cuis one such
derived transitive as it is derived by adding —<% -cuto the intransitive verb 50
kalu'to get burnt/fried/toasted'.

35.2. -0 -cuis added to ¢ du, @0 fu, & ruending intransitive bases to
form transitives. The final vowel of these bases is droped when —<% cuis added.

Intransitive Transitive
So°¢&  madu ‘to burn; to char’ ST+ = SrG+0 = S0
madu+cu = mad+cu = madcu
‘to burn/char something’
@0 kalu ‘to burn/fry/toast’ T+ = TOHD = T

kalu+cu = kal+cu = kalcu

‘to burn/fry/toast something’
S8 maru ‘to change’ STE+0 = 30+ = Jordd)

maru+cu = mar+cu = maircu

‘to change something’

& B ). ‘Toast this bread.’
T breddu kalcu.
FOR SN “@J"Zre;s 30‘3@. ‘(We) have to admit Papa in the school.’

papanu skallo cércall.
A G Tepdd Srdy. ‘I will not change this shirt.’

nénu I cokkanu marcanu.

35.3. The final céJQ -dcu, Ci)Q recu, and @0 feu of the bases become
o dus, 3o -rus and @00— Jus respectively when followed by the condi-
tional suffix 2@ -iz€ and any other suffix beginning with &- ror & d.

TONHT+D = TLOHT+D = TOOLD. ‘I will burn/fry/toast
kalcu+ta+nu = kalus+ta+nu = kalustanu. (something).’
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STEN+E0+0 = SrDR+E0+E = Srdod.  “She will change (some-

marcu+tuM+di = marus+tuM+di = marcutuMdi. thing).”
SIEN+RD = EI+YS = rdd+d=drdy  ‘if someone burns/chars
madcu+ité = madus+ité = madis+ité = madisté something’(33.3; 33 4.)

(wg)@éag+m"o = HH+TO = BHE+TO = @é&c;;o. ‘Let us clear the
(bakntircu+daM = tirus+daM = tirud+daM = tiruddaM. debt.’(26.7)

354. Another monosyllabic base & ¢&'bring' is introduced in this lesson
(T° ra, and & po are the other monosyllubic bases introduced so far.). The

pronunciation of the vowel of this base is like &

Y] te! [tz] ‘Bring!’

®08| teMdi (te+aMdi) [te Mdi] ‘Please bring!” (3.13.1)
o®.  tevali [tz vali] ‘One should bring.” (20.1.1)
B30,  réva aM [t va M] ‘bringing’ (25.1.1)

oD, télédu [tE Iedu] ‘did not bring’ (29.2)

354.1. & re becomes (i) @ rés before a suffix beginning with & ror & d
and (ii) &) fecc- before a suffix beginning with 2 /or &

BT+ = B+T+ID ‘I will bring.’
l[e+ta+nu = tes+ta+nu

+T0 = 80+T0 = d8+To = 8o  ‘Letus bring’ (26.7).
te+daM = tes+daM = ted+daM = teddaM

B+YB = BO+AD = Bo+B = BQ ‘if someone brings’ (33 4).
1E+ilé = les+ilé = les+lé = lesté

S+Q0+H = BO)+R0+H = 3DVYOD ‘She brought.’

te+iM+di = tecc+iM+di = tecciMdi

S+PHS = BB+ = BT ‘I brought.’

té+a&+nu = tecc+a+nu = teccanu

Remember that 255 7vvu'give'; O ra 'come' and S0HT (rsukurd 'bring' also

behave in a similar way in the same environments.
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?YE = A, @w) fvvu =is-and icc-  (33.6)

T = S-, SO 14 = vas- and vacc- (21.4; 26.6 (v); 28.5)

EoHo = SgH-, s W) tsukurd = tisukos- and tisukoce
35.5. ©° r4 18 the masculine inferior address marker (cf.2.10; 8.13). o ra

has a variant in -0 arq (23.9) which occurs only with the imperative affirma-
tive inferior singular form of the verb. T 12 occurs with other forms. (See 35.7)

20 DNET? idi émi ira? “What is this?’

NN SFHOT nénu vellalira! ‘I have to go.’

30 §¢ SooU idi kotta kalaMra! “This is new pen!’

EP+T = IO vellurard = vellara!  ‘Go!’ (2.12.2; 23.9)

O+0 = OT ra+ard = rara ‘Come!” (3.13.1; 23.9)
35.6. -o -¢is the feminine inferior address marker. (cf. 77 in 35.5.) -

-¢has a variant in —e9% -avé which occurs only with the imperative affirmative
inferior singular form of the verb. - -€ occurs with other forms. (See 35.7)
20 NE? (JS+a) idi émi €7 (emi i+€)2.12.2  “What is this?”
3% 931 (29)0+) nénu vejlale! (veljali+€)2.12.2. ‘Thave to go.’
280 §& o) ($00+2) idi kotta kalamé! 2.11. “This is a new pen.’

e aveé occures with imperative affirmative inferior singular form of the verb.

S0+ = BI! tinu+avé = tinave! (2.12.2) ‘Eat! (inf. fem.)’
o+® = Twl|  ratavé = rave! (3.13.1) ‘Come! (inf.fem.)’

35.7. The inferior markers, address markers and inferior pronouns such as
—e0T 17 (23.9); —0° -17 (35.5.); - €, & avé and T vadu and & adi
are used normally to address/refer to intimate friends, younger and intimate per-
sons within the family and from families which are quite intimate to the speaker.

35.8. Notice the use of the dative case suffix in the sentences like:
es § égééb@ S0 o8 &GNO. ‘We owe (some money) to
a ko ataniki manaM bakr unnaMl. that shop-keeper.’
0650 EraroHeH s S ‘Change is not available
aidu ripayalaku cillara lédu. for five rupees.’ (20.12)
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